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SOCIAL STUDIES
(English Medium)
PART - A &B

Time: 3 Hours 15 Min Class: 10" Maximum Marks:80

Instructions:-

1) Read and understand the question paper.

2) Answer the questions under PART-A on separate answer booklet.

3) Attach the given outline maps of India, World with the answer booklet of Part-A.

4) Write the answer to the questions under Part-B on the question paper it self and
attach it to the answer booklet of Part-A.

5) Answer the questions from the given Three sections I, II, III of Part-A.

6) Follow the instructions of every section.

PART-A
Time: 2 hours 45 Minutes Marks:60

Section-I 6X2=12 Marks
Instructions:

i) This section contains Group-A and Group-B.
i) From each group choose any three answers from 6 questions.
iii)  Write the answers in one are two sentences.

iv)  Each question carries 2 Marks.
GROUP-A

1) Indo - Gangetic plains have a high density of population. Find the reasons.

2) Why did the people of Jalsindhi village refuse do move out of the village?

3) What are the measures you suggest for improving the present public distribution
system?

4) Prepare a few slowgrams to protect the Environment.

5) Give examples of the criterion for the measurement of human development.

6) Explain the use of water in the river basin of Tungabhadra.
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7) Observe the following tale and write a paragraph analyzing it.
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GROUP-B

Annual National Defence Expenditure

Year 1933 1934 1935 1936 1937 939
country

Britain 455 480 595 846 1263 1817
Germany | 253 299 381 2600 3600 4400

8) How did Indian National Army fight for Indian freedom? Explain?

9) Mention any four points of the “"Gentlemen’s Agreement?

10) What are the four main demands of Bhopal gas victims?

11) What are the recommendations of TN Seshan?

12) What are the two essential characteristics of a Unitary Constitution?

SECTION-II

Instructions:

i) This section contains total 8 questions write any 4 questions.

ii) Write the answers in 4-5 sentences.

iii) Each question carries 4 Marks.

13) Name the factors influencing climate, Explain any two of them?
14) Define the functions of the Election commission?

15) Draw the India map and locate any two?

16) Observe the pic chart and answer the following questions? (A&B)
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4x4=16 (Marks)
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-

Sectoral shares of employment.

a) Which sector provides less employment?
b) Mention any two reasons for more employment in agriculture sector?

17) Write a letter to the concerned officer for the proper implementation of public
distribution system in your area?

18) Mention any four points of the “"Gentlemen’s Agreement?
19) Mention the list of code of conduct?

20) Give few suggestions to protact Environment?

SECTION-III 4x8=32 (Marks)

Instructions:-

i) This section contains Group-A and Group-B.

ii) From each group choose any two answers from 4 questions.
iii) Write the answers in 8-10 sentences.

iv) Each question carries 8 marks.

21) If the Himalayas weren't situated where they are now, how would the
climatic conditions of the Indian sub continent be?

22) Read the following paragraph and write your comments on it.

In the past 50 years, there has been a further shift from Industry to
service sector for developed countries. The services sector has become the

most important sector in terms of total production. Most of the working people,
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have also made a shift and are now employed in the service sector and most of

the production activities are those of services and not manufactured goods.

23) Observe the give graph and analyse it.

Share of different sectors in Gross Domestic product.

A- Agriculture

B- Industry
C- Trade, Hostel, Transport and Communication.
D- Finance, Insurance, real-estate.
E- Community social and personal services
24) Locate the following on the given map of India?
a) Standard Meridian line
b) Indira Point
c) Jaipur
d) River Indus

25) What challenges were faced by Germany during Great Depression and how did
Nazi rules and Hitler make use of it?
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26) Study the time line given and answer the following questions.

Beginning of first World war 1914
Russion Revolution 1917
End of 1918
Treaty of Versailles 1919
Formation of USSR 1922
Great Depression 1927
Hitler becomes the chancellor of| 1933
Germany

Beginning of Second World war 1939
End of Second World war 1945
Formation of Uno. 1945

a)What was the period of World war-17?
b)Name the organizations formed after the World wars?
c) Who was responsible for World war-II?
d)What was the period of World war-1I?
27) Observe the following table and analyse it seat share of various political
parties in 195-1962

Sl. Name of the Political Year 1952 | Year 1962
No. party

1 | Indian National congress 364 361

2 | Communist party of India 16 29

3 | Independents 37 20

4 | Socialist party 12 06

5 | Others 38 27

28) Locate the following in countries the given map of world.
A) Egypt B) England

C) Portugal D) The country announced New Deal
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PART-B

Time:- 30 Minutes Marks:20

Note:-

1) Answer all the questions.

2) Each question carries 1 Mark

3) Answer are to be written in the question paper only.

4) Marks will not be awarded in case of over-written, rewritten or
erased answers.

5) Write the CAPITAL LETTERS (A, B, C, D) showing the correct answer
for the following questions in the brackets provided against each

question.

1) Use of fertilizers ad pesticides are banned in this state ( )
A) Kerala B) Karnataka C) Maharastra D) Sikkim.

2) The Indian standard time is............. To green which mean time ( )
A) 5 2 hours a head B) 5 1/2 hours back
C) 12 hours ahead D) 5 hours back

3) This is not the reason for high literacy rat in Himachal Pradesh ( )

A) Education was made free or coast very little to the parents
B) Minimum facilities are provided
C) Teachers are appointed

D) Server punishment in schools

4) This is not a feature of organized sector ( )
A) Working hours are fixed B) Exploit labour
C) Salaries are fixed D) paid leave allowed

5) ‘Nasbandi’ means ( )
A) Family planning B) Ban on free grazing
C) ban on liquor D) ban of felling trees

6) German word ‘Trade’ means... ( )
A) Commerce B) Track  C) Monsoon D)Jet stream
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7) This is done by food corporation of India ( )

A) Procurement of food grains B) Declaration of minimum support price

C) Supply of seeds to the farmers D) Allocation of funds to agriculture

8) The book “silent spring” belongs to......... ( )
A) Impact of usage of DDT B) Factors of water pollution
C) Effects of fertilizers and pesticides D) Protection of environment
9) Special feature of peninsula piateau (o)
A) Red Soil B) Black Soil C) Alluvial Soil D) Laterite Soil
10) Mining comes under this sector ( )
A) Primary B) Secondary C) Service D) Unorganised

11) One of the following is not related to Telangana armed struggle ( )

A) Cancelled farmer’s debts B) Banned vetti

C) Land to tillers D) Change Hyderabad into Hindu state
12) The movement started in Manipur State ()

A) Tebhaga B) May 4 Movement

C) Greenpeace movement D) Meirapaibi
13) The period between......... was a testing time for Indian democracy ( )

A) 1960-1970 B) 1975-1985 C) 1985-1995 D) 1995-2000

14) The political party system in India is... ( )
A) Single party B) Multi party
C) Dual party D) No party system

15) Chief Election commissioner of India ( )

A) Sunil Arora B) Y.S. Khureshi C) T.N. Seshan D) V.S. Ramadevi

16) Significance of November26, 1949 ( )

A) Implementation of Constitution B) Independence of India

C) Approval of Constitution D) Formation of Drafting committee
17) “Do or Die” slogan related to ........ (¢ )

A) Non- co operation movement B) Quit India movement

C) Khilafat movement D) Civil disobedience movement
18) Tebhaga movement was started by ( )
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A) Small, poor peasants B) Zamindars and Landlords
C) Government Employees D) Sepoys

19) The immediate cause for second world war ()
A) Aggressive nationalism B) Hitler attacked Poland
C) Militarism D) Death of Ferdinand and Sofia

20) The U.S.A. came up with “"Marshall Plan” to fund the
economic rival of o)
A) Italy and France
B) Austria and England
C) Germany and Japan

D) Norway and Sweden
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